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2 =T — LR 7O RA—] KIF | Al 76,281,000
3 % B4 | SFHEE ] RO | AL 43,665,000
4 B — LA — Hoe | rlis | KIF | AL 94,768,000
5 TrAF AT — B9 rlups | KIF | AL 91,748,000
6 SYHUFa—Tg e | AR KIF | Al 58,146,000
7 YHIT7A s ERM | KIF | AL 70,604,000
3 F——a~7 AR e JIEE| BE | Al 98,130,000
9 TR XTI 4 | JIEIE | 8RS Al 39,700,000
10 o7y L B8 HIHE | MRS | AL 78,608,000
11 7L A 2—~ Bo10 BRSO S | AL 70,100,000
12 | A4 s [JIEE] i | Al 75,414,000
13 roN—o M4 | EEE| e | Al 32,100,000
14 | FAFX<FI—F He8 |JIBE| iE | Al 195,945,000
15 < =74h 7 VINEIE| G Al 80,132,000
16 ~ =T AL e | JIEIE| G Al 09,714,000
17 N—RFAXF A a4 | x| I | AL 32,235,000
18 Sa— A5 B8 | NS N Al 92,828,000
19 B~ EATT—R B9 [N R | AL 78,008,000
20 T3V AT M6 BEHEE| KIF | A2 48,320,000
21 TR /¥ ~h 7O CKHEE| K| A2 38,904,000
22 F—tnv B8 | A Eb#E| KIF | A2 48,002,000
23 auXav i I IA 7 RN | ORIF | A2 36,442,000
24 | F—T4— M6 | REEA|] JTOE | A2 47,490,000
25 A= T T T — B9 Rk ORI | A2 47,547,000
2 b —F e | JERME| K| A2 41,352,000
27 FAO—F /L a4 | EWIE] OKRIE | A2 27,600,000
28 XY T AL — 7 RN | ORIF | A2 52,082,000
29 TY—=RTLA/3— 7 AR KIE | A2 44,005,000
30 o—R a7 9 | IR TR | K3 A2 43,394,000
31 eIV AR o4 | HIHE | MR | A2 20,214,000
32 Y7 —h) 6 | JIEIE| G A2 39,174,000
33 A — Sy AH — a9 JIE—| MG | A2 44,252,000
34 F =Tk 1 VINEE| s A2 44,956,000
35 TIL—F AL B9 HIHE | MG | A2 43,220,000
36 | JvT4—=a Ba 9 | /NAE | WA | A2 40,980,000
37 Ak T HRAL R ¥ 8 | KB | JHIAN A2 40,350,000
38 I—Hu— o4 T KO Bl 16,810,000
39 V7 rvay 7O BRI K B2 28,614,000
40 | 7 duE fh4 | BRI K | B2 14,290,000
41 AT T T I 7O EFIG | K B2 28,468,000
2 | xatrr— B4 | FEET| KHE | B2 14,685,000
43 <IN TI S — 5 | EE= | KOt B2 16,656,000
44 A= e 0% 6 | M2 | IR B2 21,800,000
45 TRy 7O EE= | K B3 20,852,000
46 IR a—1)— 7O EES ] K B3 18,904,000
47 FAH— R~ — 6 | EfE=| Kt Cl 13,940,000
48 HR ) ~AT1— 5 | EfE= | KIF Cl 10,149,500
49 | IR —ug—7 H5 | #EE=| K} | CIl 9,160,000
50 TIATAIH— B 7 | EE= | KIF Cl 15,927,000
51 ~ YT =T A 5 | EfE= | KIE Cl 8,270,000
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